
Get quote now ! info@adamsint.net

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

Kerb-Konus Stock List

Part No : 973.100.10(MUBUX)

Part No : 974.000.120.100 (MUBUX)

Part No : 714 000 100.500

Part No : 974 000 100 100

Part No : 973 000 120 100

Part No : MO 973 000 060.100

Part No : 852 000 050.800

Part No : 852 000 050.800K

Part No : WJ240063 DESC. Ensat-s 260 000 040.500

Part No : 850.000.060.800

Part No : 260 000 040.500

Part No : SPI-151286

Part No : M8 x 1.0

Part No : 3020710.50

Part No : 520 000 080 143

Part No : 307000080110

Part No : 307 000 080 110

Part No : 520 000 080.143.

Part No : 307 000 080.110K

Part No : 309 200 637

Part No : 309 000 637.800

Part No : S-clifa-SAD M8 09 571 7 080

Part No : S-clifa-SAD M8 537 800 080

Part No : 302 000 050 500

Part No : 302 000 040 500

Part No : 302 000 030 500



Get quote now ! info@adamsint.net

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

Part No : 636 000 050 000

Part No : 636 000 040 000

Part No : 636 000 030 000

Part No : 302 000 050.500K

Part No : 302 000 040.500K

Part No : 302 000 030.500K

Part No : 636 000 050.000.

Part No : 636 000 040.000.

Part No : 636 000 030.000.

Part No : 307-000-080.110.

Part No : 302 200 060.160

Part No : 302 200 080.160

Part No : 302 200 100.160

Part No : 302 200 120.160

Part No : 302 200 160.160

Part No : 302 000 160.160

Part No : 307 000 080.110M

Part No : 307 000 080.160M

Part No : 307 000 060 160

Part No : 308 000 040 160

Part No : 307 000 060.160K

Part No : 308 000 040.160M

Part No : 302 200 060.160K

Part No : 302 000 080.160K

Part No : 302 200 100.160K

Part No : 302 200 120.160K

Part No : 302 000 160.160K

Part No : 302000040.500K

Part No : 302 000 040 110

Part No : 302 000 040.110M

Part No : 974 000 120.100K

Part No : 974 000 120.100M

Part No : 814 000 040.800

Part No : 814 000 040.800K

Part No : 512 000 060 143



Get quote now ! info@adamsint.net

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

Part No : 302 000 060.110M

Part No : 302 000 080.110

Part No : 302 000 060

Part No : 302 000 120

Part No : 302 000 060.160M

Part No : 302 000 120.160M

Part No : 302 000 060.160

Part No : 302 000 060.160K

Part No : 972 000 080.100K

Part No : 972 000 080.120K

Part No : 814 000 040.500

Part No : 62220

Part No : 1.0214

Part No : SN62220-A10-8-NR.ST-PRG

Part No : 302 000 710.160

Part No : 302 000 625.160

Part No : 308 200 080.160

Part No : M8X9 105132

Part No : 220 000 060 500

Part No : 1185-20CN1250

Part No : 358000080110

Part No : 302 000 050.504

Part No : 302 000 040.504

Part No : 302 000 06.110

Part No : 302 000 100.110

Part No : 302 000 060.110K

Part No : 302 000 100.110K

Part No : CLIFA-SA-525

Part No : CLIFA-SA-530

Part No : 862 000 625.800

Part No : 302 000 030.504

Part No : Insert - M4x5

Part No : insert M6x12

Part No : insert M4x8

Part No : insert M3x4



Get quote now ! info@adamsint.net

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

Part No : insert M3x6

Part No : 302000100500

Part No : 100002

Part No : 302 000 060.504

Part No : 302 000 080.504

Part No : 307.000.506

Part No : 302 000 030.160

Part No : 302 000 030.160M

Part No : 302 000 030.160K

Part No : 302 000 050 110

Part No : 4022.489.20597

Part No : 4022.438.80442

Part No : 302-000-080.160

Part No : 973 000 120.112

Part No : 302 000 080.160M

Part No : 307 200 120

Part No : 302 200 080

Part No : RBL 0.8x45° DIN 82


